N & 0 & g 9 A A
20229 & 20l & LBSH QF AR =
S LHEENEE
M Xgez 29 XA
He o¥es KA (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OISANR = 3,953,546 3,567,543 386,003
Ngolg 249 & 1,560,470 1,390,967 169,503
odEgs XN 1,376,850 1,299,009 77,841
OISR L &t &5 XA 1,046,820 1,042,746 4,074
205 2|3/ Hl 992,520 988,446 4,074
01 o8& st 184,800 184,800 0
1) & & S| 1,100,000& x14H x12& 184,800
02 282Y 458,783 454,691 4,092
DERE= 2,730,850& x14H x12& 458,783
05528 E2gdassS &l 101,500 100, 100 1,400
NYdEE 2 gL 7,250,000 *144H 101,500
06 23 2HLRF=AH| 116,800 116,800 0
1) &t EsH| 116,800
2)2 & 3,600,000 x 15 x12& 43,200
2)2 ol & 1,800,000& x1H »12& 21,600
)AL 1,300,000 x3H »12& 46,800
)M ZE/AASIHE 1,300,000& x4 3] 5,200
07 AL (B2, AHMLE) 6,000 6,000 0
1old 2= NS 200,000& *144H 2,800
NHIDOILE € JHMBEZAE
400,000 2H 43| 3,200
08 Sl ALyl (22t EH 11,200 11,200 0
7)ol 2 A2ty (212t EH) 800,000& *14H 11,200
09 2|2 & =&y 70,000 70,000 0
DNEOPY ZAHAR S 24|
5,000,000& =144 70,000
10 &EEAMEE 2 7,000 7,000 0
Neldc oM 22 7,000,000& *13] 7,000
1o IUAZIRE S 18,434 20,462 N2,028
N20e3 223
2,730,850& x11H x6& x4 . 5%+2,730,850& *14H 18,434
*6E x4 . 5%
1293200 A0222 18,003 17,393 610
NHLLEE2 242
2,730,850& 14 128 *3.495% 16,035
NAIIQY B8 842
16,035,000& *12.27% 1,968
304 H=2R2E=28 54,000 54,000 0
0 oMM EE= 54,000 54,000 0
1o Aol 23 54,000
2) St 1,500,000 x 15 »24& 36,000
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CXgels 2g X

el

X ZH
S =

gd3gs N

SA BB O () - MM - HES 0l &+ o4 il
2)ZHOH 1,500,000 x1H x12& 18,000
5 ha32S 300 300
01 &3S 300 300
NEUEAN MY 243 100,000& »33| 300
=U -2 gz3gs XA 133,250 133,250
202 odl 39,210 39,210
01 = LH o4 1l 7,360 7,360
1)&, 58] HIWAE S 28 s3xa 5,600
2)2 20,0003 *7H x5 x23 1,400
2)=¢etyl 50,0003 +7H x4 +23| 2,800
2) A 20,0003 *7H x5 x23] 1,400
14,58 HILWAIE S MAEGA =38X2 1,760
2) bl 20,0003 *4H 3 x23| 480
2)=¢etl 50,0003 4«2 +23| 800
2)A 8l 20,0003 *4H 3 x23| 480
03 22 S0 bl 31,850 31,850
Nad el =32 3,500,000& »7H 24,500
NIMS S, N2, SIS AHALRI R %
HX R 24,500,000& *30% 7,350
203 YR F&H| 12,000 12,000
03 Al Z=X AR =X 12,000 12,000
NASA 223 2t M=U3E 6,000,000& 6,000
NeI2, BsHH, AMRIEH & 2+gs Y
=27 HSHA 6,000,000& 6,000
205 2|3 | 82,040 82,040
03 2/ =LH0d bl 18,340 18,340
1N Y WA 14,140
2)2Hl 20,0003 *14H x5 «23| 2,800
2)=4tl 70,0003 x 14 x4 x23 7,840
2)AlH| 25,0003 *14H «52 +23| 3,500
Naldgs ARNS0HY 150,000& »14H x23| 4,200
04 2/ =2 0 bl 63,700 63,700
123 ool 3,500,000& x14H 49,000
N=MS S, TNOHZEA 20t A A &I L
SHNRSEANEE S 49,000,000 *30% 14,700
oslegol Ualst 97,332 92,023
201 L2l 27,222 20,813
01 AR 22| 24,910 18,501
13l s &2t 13,620
)50 g 93,0003 x2H 70 13,020
2)IREE o= Yt 30,000& 203 600




SN QB AR

3 gz 289 X&

©el: FES N (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
neg=s¢ 5,290
2)3% AN AAMRAYE 29 ¢
70,000 x5H *33] 1,050
2)8E3MAos 28 ¢
70,000 »4H »23] 560
)oY BSAYSY NSNS 2Y +Y
70,000 x9H 23] 1,260
2)H5I2, 4% NEMOIFAL HALY
70,0003 *3H »23] 420
2)0IARI RS HASY 100,000& »4H +53] 2,000
N=0 94| 6,000
2)23l9 100, 000& *40A| 2t 4,000
2)EE3 200,000 *10Al 2t 2,000
02 2324l 2,312 2,312 0
N3l s ZelAlAE K E S|
192,600& = 12& 2,312
203 YR =& 36,210 33,810 2,400
03 A F=AH =AY 36,210 33,810 2,400
NN st & gRFX 4,370,000 4,370
NAE QJAHLER FHMIE 28 GR2FA 16,800
)9z gexx 500,000& x12& 6,000
2)9/A 23 AR EX 400,000 123 4,800
)22 gexx 300,000& »12& 3,600
)Y HRAASE HRFA 200,000& =122 2,400
DAIR2HQ o 2AZsA =& 4,000,0008 4,000
NHESAA QoA AL & ZALZ S  9,600,0008 9,600
NHAER =& 120,000 «12& 1,440
204 AR A H| 15,900 14,400 1,500
03 EZYRFHI 15,900 14,400 1,500
NU syl
50,0003 *25% x 128 +50, 000 & *3H «6. & 15,900
301 LEXZ 5,000 5,000 0
09 HALAHIX RS 5,000 5,000 0
NEE3 & LHI Atellz 500,000& 103/ 5,000
401 AIEHI L 20 2,350 0 2,350
01 A& HI 2,350 0 2,350
NEslgd s4lA0E &x 2,350,000 14 2,350
405 XHoHF S HI 10,650 18,000 A7,350
01 AL ESFH S 10,650 18,000 AT7,350
NaYs sloa Tl 204
450,000& »2H 900
NEso® TV 2UH F0H 3,250,000 *3CH 9,750
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el

= _ — d =
BB (BH) - MRAY - B S e HlnE2
o#d &4 99,448 30,990 68,458
2 B2 | 9,580 800 8,780
tS 2 el 9,580 800 8,780
S#ZEHE 85+ 200,000& *43] 800
Huolz M0l =PNEY)
70,000& 9K 630
DB 2HB(E2
2,500,000& =14 2,500
N=sod 8582 2ol £X
2,750,000& «1CH 2,750
N&ZJ slz218 wH 2,900,000 = 1CH 2,900
401 AIEHI L 20 15,000 24,505 A9,505
=1l 15,000 24,505 A 9,505
FHIA B2 A4 (55m) 6,000
2)35 sloa JtEEA 1,000, 000& 14 1,000
)M XY 2,000,000& =14l 2,000
2)HEE B A 2,000,000& =14 2,000
2)HD| 2t B A 1,000,000 * 14! 1,000
NS4 ST A 5,000,000& 14! 5,000
s, 2oda CHE S A
4,000,000 * 14! 4,000
AHebE SH| 74,868 5,685 69,183
MRS SFHSH 74,868 5,685 69,183
o Ea, 2o - OH
3,300,000 *2CH 6,600
I d=22E x4 28,268
2) 2 &t 190, 000& 9K 1,710
2)2 Xt 285,000 9K 2,565
INSH 165,000& *9H 1,485
2)HHI 320,000 *5JH4 1,600
2)%2 HHlK 95,0003 =14 95
2)ZFH 2 997,000 9K 8,973
2)8FH 2LUH 210,000& +9CH 1,890
Q)= IIzE 6,650,000 *1CH 6,650
2)IEl & 3,000,000& »14 3,000
2)TV 2LIH 300,000 1CH 300
O|EA, ROATA AIREIT F0H
40,000,000 14! 40,000
s &= 183,620 91,958 91,662
QIE U MEs Al 31,348 29,100 2,248
BH2 &l 31,348 23,176 8,172
tS 2 el 11,372 5,796 5,576




2N AEARE
o Aol 2Y X
oo ANES B2

2A-F3H-H2A(3) - MY - BES Of] Ak %‘E_i Hl w&z2
NotSHA 8 20 435,000 x11CH 23] 9,570
Nea=% AHAIL 220 69,3003 * 1304 A *23] 1,802
02 3323l 19,976 17,380 2,596
OIEHY Mys ol X @ 363,2008 x 12 x55 19,976
T2/3 SHOIX HH 55,000 0 55,000
207 Aol 55,000 0 55,000
02 & AR I 55,000 0 55,000
1EHOIX Ed 8,800, 000& 8,800
132 = s/W 16,500, 000& 16,500
NG &39F S/W 16,500,000& 16,500
1)Se&2l X CNS 13,200,000& 13,200
<23 ZHO0IX 2¢2l 9,610 9,082 528
201 B2 | 9,610 9,082 528
01 At 2t 2|l 110 110 0
NEHOIX THo AIEZ 44,0003 44
N2 AHUFA MAEE 66,000& 66
02 3323l 9,500 8,972 528
NEHOIX ¥ A SXE4H
700,000& =122 8,400
NEHOIA HAZQISHHIA AFE S
550,000& 550
1)EHOI Xl QZH0L0IEQISMHEIA AR
550,000& 550
¥es g2Ng g2t 87,662 53,776 33,886
201 L2l 84,262 50,376 33,886
01 At 22l 84,262 50,376 33,886
123 10,000& *350F *23| 7,000
NdEEE S M 1,000,000& 1,000
e =& 10,000 600 6,000
1)2Fstol 3] OFLH =4 Xt 5,000& *1,000% 5,000
NA=9H 10,000& »350= 3,500
Nad g2 sI4& ME 22,000,000& 22,000
NEY T8 s 1,730
2)Adobe Creative Cloud(2E )
101,200 ~12& 1,215
2)Adobe Photoshop 42,900 123 515
1)OI0IXI AOIE MEAH == 1,320
2)280tER 2|0} 1,320,000& 1,320
NFER Mg 550,000 *402] 22,000
nersa 14,712
2) A M2 (500 A) 15,000& x 172 x12& 3,060




2N AEARE
o Aol 2Y X
oo ANES B2

SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
2)ZAAMES(2IHA) 9,000& 1582 x12& 1,620
)N AS(4HA) 1,300& 1205 523 8,112
2)XNE A2 (1IHA) 2,000& x20 2 48 1,920
203 ¥R =&XH| 3,400 3,400 0]
03 A ZHF=XH R = XIH| 3,400 3,400 0
1o Eg88s g4e=x=A 3,400,000& 3,400
HES2HAH| 2,393,076 2,176,576 216,500
Ol SHHI (P2 AR =) 2,037,147 1,840, 341 196,806
QI 2AY| (RS AR =) 2,037,147 1,840, 341 196,806
101 @121l 1,976,997 1,785, 141 191,856
01 24 1,832,501 1,730,484 102,017
nea2 1,234,096
2)H 2N (432) 92,915,000 1 *1.014 94,216
2)H S (52, LEHA)
82,295,000 1 *1.014 83,448
2) S H (58, 2FN)
77,774,960 x1H *x1.014 78,864
2)Ss =M (62 0lat) 977,568
3)6=2 (285 2)
4,271,300& x4H x12& x1.014 207,893
372 (185 8)
3,393,300& 15 «12& *1.014 619,346
3)8=2 (95 2) 2,408,800 x4 128 «1.014 117,242
3)92 (173 8)
2,719, 100& x1H 128 +x1.014 33,087
NEU2L24E 217,877
2)52 14,215 2 «59A| 2+ 122 +1.014 20,411
2)6= 12,1243 x4 59 A 2tx 128 *1.014 34,816
2)72 10,952& *14H x59A| 2tx 128 *1.014 110,077
2)8= 9,832& x2H x59A 2tx 128 x1.014 14,118
2)73(+28)
10,952& x 1H *80Al 2t*x 122 *1.014 10,662
283 (2HE, +#)
9,832& x2H xB0Al 2tx 122 *1.014 19,142
2)92 (2T )
8,887 x1H xB0AI 2tx12& *1.014 8,651
NIEL 26,730
2)H 2 Xt 40,000& *27H x12& +0.8 10,368
2)ES 20,000& *27Hx12& 0.5 3,240
)8l (XM ) 20,000& *27H x12& x0.7 4,536
2)HES(SMAH) 60,000& *27Hx12& x0.4 7,776
2)HI = (AMOIZEXA)
100, 000& *27H x 128 x0.025 810




S LHEENEE
Hu: 2R
e HEEICEEPEES (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
NROEY 1,500,000& x2H *12& 0.7 25,200
NHLHe S 200,000 »2H x12& 4,800
N2> (52H) 977,568,000 x1/12%0.96 78,206
NEZ2LYI2(S2H) 22,800
2)25E 0] & 130,000& »7H x12& 10,920
2)20E 0l &b - 25 0] Bt 110,000& x1H ~12& 1,320
2)15E 0l & - 20 0] B¢ 80,000& x4 x12& 3,840
2)10& 0l &b - 154 0] Bt 60,000& x6H x12& 4,320
2)5E 0l &b - 10 Ol et 50,0003 x4H x12& 2,400
NS 977,568,000& x4 . 1%*0.6 24,049
NEYHZ2ALE 50,000& x1H ~12& 600
NExER2Y 18,240
2)ELA24E(935]) 17,400
3)42 100,000& x 18 =12 1,200
3)52 80,000& x2H x12& 1,920
3)62 60,000& x4 x12& 2,880
3)73 0l 6t 50,000& 19 x12& 11,400
2))|=dE4E 240
3)83 0l 6t 20,000& 1 x12& 240
2)IEEHELYIHA2 600
3)I)IsHE,IIA 30,000& *x1H x12& 360
JN2H 20,000& x1H ~12& 240
1 HZ A 140,000& x27H = 12& 45,360
1) & S 0Hy| 977,568,000& x1/12%120% 97,757
1) DL 2 AbH| 36,786
2)43 (HEH)
92,915,000 «1/12%78%*86%*1/30% 13 2,251
2)52 LB (AEH)
82,295,000 «1/12%84%*86%1/30% 13 2,147
2)583 €& A (A=H)
77,774,960 «1/12%84%*86%*1/30% 13 2,029
2)620laH (=2 H)
977,568,000 x1/12%86%*1/30% 13 30,359
02 JIEt& E % 144,496 54,657 89,839
NS (LI1H) 116,616
)72 (HMR ) 48,000,000& *3%H *0.5 72,000
2)83 (H &) 44,000,000& *1H*1.014 44 616
NEU2L2 LS (LIIH) 18,853
2)72 10,952& *3H x59A| 2tx6& x1.014 11,794
2)82 9,8322 x1H x59A| 2t 128 x1.014 7,059
NS Y (LA 2,073
2)H 2 Xt 40,0003 *3H *6& 0.8 576
2) B 2 &t 40,0003 *1Hx128 %0.8 384




S LHEENEE
Hu: 2R
S CIERAH| (RS AIRR) (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
)&= 20,000& *3H 6 *0.5 180
2)EH 20,0003 *1H*12& +0.5 120
2)8l = 813
3) R M XA 20,0003 *3H 6 *0.7 252
3) X M A 20,000& *1H»6& 0.7 84
3)EM X 60,000 *3H x6& *0. 4 432
3)AMOoIE XA 100,000& *3H x6& +0.025 45
NEHZAHI(LIIH)
140,000 * 12 122 +140,000& *3H +6 & 4,200
NS AHI (L DIH) 2,754
)73 (HHI )
72,000,000 *1/12%84%*86%*1/30* 11! 1,590
2)82(Z &)
44,616,000 x1/12%84%*86%*1/30+ 13 1,164
204 &R = A H| 60, 150 55,200 4,950
02 &2 E x| 60, 150 55,200 4,950
1)42 400,000& x1H *x12& 4,800
1)53 250,000 »2H = 12& 6,000
162 (LI M7S L&)
165,000 *4H 122 +165,000& *3H x6 & 10,890
172 (LI MBS L&) 155,000& x16H x12& 29,760
1)8=2 0l ot 145,000& x5 x12& 8,700
JI2ZHI (RS ARZ) 355,929 336,235 19,694
JI2HU (A AR=) 355,929 336,235 19,694
201 et A | 250,179 219,529 30,650
01 AFR2 2t 2l Yl 158,895 129,012 29,883
1)l M HI 10,987
I E~E=PN 1,000& *5000H *23] 1,000
)EE 5002 x5000H *23] 500
2)EEZ(EI,5=Al)
24 200 11222424, 2002 *350 % *80% 9,487
DNEAXXYEAE 654
AE 600,000& 600
2) I 4,500 x123] 54
NeE JIEE M= 16,000, 000& 16,000
NadAs S8 M 2,000& *600F 1,200
oI & Sstm 8,332
2)2 A H I 350,000& *144 4,900
2)9| ¥ o 3,432,000& x 14 3,432
NereEs L AHEsS M 560
2)MES HE 10,0003 x14H 2 280
2Q)XNEHS M 10,000& x14H 24 280




SN QB AR

Hal: HY2 YA

©el: JI23H(RASARR) (&)
SN FH-SA(EN) - MBAY - BES 0l &F 24 il HlnE2
NEE8 82 M 2,460
208N EEE 8,200 *10m" *10J4 & 820
2)o¥a=E gE8 8,200 *10m" x20J4 2 1,640
NHIMNR A2 2¢ 4,670
2)S ALEXI (A4) 22,0003 x11&- Xt+128 2,904
2)= A Z X (A3) 30,000& x1&t Xt+128 360
2)AR EEH 10,000& »27H *43| 1,080
2)HHFEF(43) 5,830& x35+123 210
Q)15 (538) 19,2002 x 15 +63 116
NEI =888 HAEX(1.5V) 5502 *4IH+80L 176
[DEIR=N PAER]] 15,0003 »14H 4L 840
N (FAE) 2ERE8E 70 2,800,000& 2,800
Nad 2esE&E 2 3,000,000& 3,000
IR E==1s]] 4,480
2)91d AMNRESHI 4,0003 x14H+80 4,480
Nad E2& MA g2 2,400
2)8"*10" 8,000& x10&+128 960
2)10"*15" 15,0002 »8& +12& 1,440
NAFE =I12101 X228l 200,000 «4CH 800
NESH(EA) X2l
150, 000% *14CH 43| 8,400
NEZEHARZ) X2l
150,000 »7CH »83] 8,400
NSEI(AR=2,8A34) X2l
200,000 »5CH *7 3] 7,000
NEAMESI] S22l 100, 000& *2CH =23 400
1)J1E 2LHl 4,020
Q2R 15,000& 145128 2,520
)NXNEH2HE TR 500,000& 500
2)BINHE Ps= 1,000,000 1,000
NN2HSAI =22 165,000 x5H 123 9,900
NJI2gdRFd3 e
8,000 28 204! x 123 «93%+8, 000 & *3H x20 52,676
Al x6E x93%
NAGHEYS (A1) 500& *8,000 13| 4,000
N2=J1 &« ZotIl M= 190, 000 *6H 1,140
1N2xJ & Foll 259 dxlxx2
300,000& »12& 3,600
02 =24l 91,284 90,517 767
1 A2 2] 17,684
2)HEE L ANEFHU RAES
5,000& *2,063m’ 10,315
2)FA W28 HA 5,169

32y HA 2,500& 750 m" 1,875




2N
X ZH -
L= B

el

CEPYEE
#HSAHY|

JlE2dul (RS AR =)

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
JU e H2(FE) E3L 200,000& 200
3)HIE 2A 2,000& *1,000m* 2,000
3)IHE (R A) ME

1,650 *100m* *x2 &l 330
AT E Y 2o A 22AFA )M
3,500& =374 130
L HH S 2HHIS 634,000 634
)|, JANNEBE (L)
500,000& *23| 1,000
2Q)HAE2E 0 100,000& x12& 1,200
1BIG |X 22l 19,900 *14CH x12& 3,344
NAESIX A 800,000& *13| 800
1N2222 2 MAl 36,928
Q)R2ER S 50,000& *12& 600
)22 28,200
NI 1,300,000& x12& 15,600
N4 - otEE 22 300,000& ~6& 1,800
IEAIA 22 700,000& x12& 8,400
J)YBtAS @23 200,000& ~12& 2,400
Q)SAFAMNEES 2 () 85,000& *20H *23] 340
QJNERLLEEZ 640,000& 640
2)KF= XA 640
3= A) 500,000& = 1CH 500
JSE X (HA) 70,000& *2LH 140
Q) HEE = 1,740
3NESEX(2H) 780,000& = 1CH 780
JNSEX(HH) 480,000 *2CH 960
2)2EQEHY L HOIETV AIEE
114,000& ~12& 1,368
)My oies 2 2,500 *x30& ~ 128 900
2)JIE =22 2,500
3)E D] otM 22| & AH| 100,000& = 12& 1,200
3) Aot M & 3l H| 50,000& *13] 50
) AIJIAAIA AD|A A 50,000& *13] 50
JAEANE =S MU 600,000& *23| 1,200
A& ZHl S Xl 8,308
2)8t S A | 250,000 %4 3| 1,000
)20 HBEAAE 334,000 12 4,008
2)E L&A W . L8]] 3,300,000& =104 A 3,300
N2 X242 200,000 x12& 2,400
NI =24l 1,000, 000& 1,000
NI 4 BIFEHI FAL2H|
143,300& *12& 1,720




SN QB AR

Hal: HY2 YA

S JRFH (RYUSARR) EERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
NEAMN =8 =& | 3,100,000& 3,100
NS AL (S S4l, =28, JIEH) 16,000
2)& & X (10,000kmO] &) 6,000,000 *1CH 6,000
2)& & XH(10,000kmO] &) 5,000,000 »2CH 10,000
202 04l 79,296 72,576 6,720
01 = LH 4 Hi 79,296 72,576 6,720
NI2LRFEAL
280,000 +28H 123 x80%+280, 0002 »3H 6.3 * 79,296
80%
203 YR =&l 9,000 8,700 300
01 1228 =4H 3,300 3,300 0
N2 gLFaH(=2%) 3,300,000 1 3,300
04 EA2IYRFEH| 5,700 5,400 300
NaAsAR=2 29¢
350,000 *63 +400,0002 x6 & 4,500
NE2AL 292 100,000 «12& 1,200
204 AR A H| 6,600 6,600 0
01 ¥R A 6,600 6,600 0
1432 350,000 x1H =123 4,200
152 100,000& «2H 128 2,400
405 XtaHE SHI 10,854 28,830 A17,976
01 AR ESFH S 8,854 26,830 A17,976
NaAE AHH =X 204 997,000& +2H 1,994
NAFE 2LIE 204 210,000& »1CH 210
NE2AFLY FU=SEIIZele 204
6,650,000 = 1CH 6,650
02 T A2 2,000 2,000 0
N a TAF 500,000& 42 DI 2,000




